Exam Name: UPSC IAS Mains
Year: 2013
Subject: AH AT (Hindi)

gl & IR g § fAfAfdy wreg Far A Rer T 811 SR
o1 fayg-avg Wee a1 A S1ftre Aeayul 31

. SReT YR & oifae e &1 2 T siftrer Iuaiht 7 g1 gu off T Wit 39 T & o
9 3Mffep fRuf 1 Srcid gHTdt Qe & quie wvar g | fewoft BT (200 2re) 10 marks

. (a) 3RS YR Rremerdl § sifrd qvEa T $1 fdda-1 HISTTI ( 100 Tsq) 5 marks
2. (b) AR aRge el & fIH™T & A1 aRgH el &1 I W g | faa= 1 HITWI (100 Wec) 5 marks

3. 3y, foimt ot o & st ¥ gad i, YR AfaE HRd o arefi=ar ¥umm o sproft a+t & |
fad@1 ®IfSWI (200 Ts&) 10 marks

4. 3% faefRmt 3 URd # g9, faftd st & yi foran | yRdhg Tarei=ar S & 39t
YT &1 faewor BT (200 Re&) 10 marks
5. “3% THR I A1S SAgion = YIS R o1 a7 ' sarea SITW| (200 TsE) 10 marks

6. 3{TeT faIET HId & Y& 9 UTHEH Il & IE¥4! &1 JHIAEHTS fdae T Bifrg 3R
D! TH Al BT Mha- DITE] (200 Usa) 10 marks

7. G WA S fHAT AR & Fogd 3R Hedl IR Uh JHIGEHIES o [ | (200 Xsq) 10
marks

8.  WaAdI-Ud d WAl SURId HRA B HISHT g HaTH TG & ARG Bt fada-T Hiforg|
(200 RMex) 10 marks

9. 37 uRfufea &1 fawero o HifTe o HRUr Iy 1966 T AT=Tde THSINAT §31T | THSI B
fafRrydrsil &1 fade BT (200 Ts<) 10 marks

10. 39 IR o1 IS URI&0T HIOTE [ SR YR &1 SRS & 3¢ | (Huias
Yf¥erT &1 fAdg 1 USTI (200 TsE) 10 marks

1. foea J gF e Sar e i & 35 T8 SR i & ot ufgedt <= & sryal ¥ faewa
a1 fo=auT ST 1 (200 Tsc) 10 marks

12. <RI gfogyf @1 gders gRT bie! & HHH wU ¥ it sic-3ie sl & Hie fear |
fa=eor SIfSTE 1 (200 TsG) 10 marks

13. “3RI®! B, afvidhdig & [Gog Te Sfid faxig uTl" 39 &Y= &1 g S| (200 Jeq) 10

marks




14. 3T Hemdl ¥ Feen & o foo fad Tremt o1 vanT far a1 U1? (200 2sg) 10 marks
15.  YRd ¥ dig wgde=or uftear 3 5= fafirs qmnfsie qawansh & o= faar, 39! fademn sifsm|
(200 Xex) 10 marks

16.  “Higdl T3 Bl feifT-He I Gad B & [T TN DI JaRdl DI Seral e arfgy " fewoh
PISTTI (200 ec) 10 marks

17. YRJH g STHIYE R IYIHR01 & THTT BT FHTATHD U0 BT | (200 ec)| 10 marks
18. WISl Bt dadl g8 HIGHT, JU Iod &1 AN &1 T HRUT ¢ | fada1 SHIfTE | (200 Tsg) 10

marks

19.  (a) HETEIU faRiu & RagT=d & oMU 1 THgrd 87 9% U& 8 T I1ed! &1 e i
(100 Rex) 5 marks

19.  (b) YRd & Ydf dc R 8T &1 H 31T IhdTd DI ‘BIZfer' (Phailin) H8T 14T TR
SUGHICENT TehdTd! B Bd A1 T ST 52 favdR ¥ Iars Ul (100 Req) 5 marks

20. (a) TOR & Wed) Fag-wrl § au-gidl & §99 & SR 9d18U1 (100 ¥s3) 5 marks

20.  (b)HNIA-AT & QMUHE HehH B ge AT I S 1 THId 82 39 I & A au FHarfyat
B U HY THIFId BT 82 (100 Tec) 5 marks

21, Ja mard § g T gyl 20-30 & IR Si&i IR SR ARSIl & UfdH Bt 3R R §
F1? (200 TsG)| 10 marks

22.  (a) Uit uTe @ Ja | fgHed § YRGaH &1 ge-1sil & U §id X8+ & HRUI st (100
Rlec) 5 marks

22, (b) uf¥ g1 Bt Afeat Seer AeT S | 2 (100 T 5 marks

23. (a) 31 31U YOI A YgAd § b YR & ol et # 72 = firdd Giem &t gy o6 w61 82
T fade SIfSTT I (100 &) 5 marks

23.  (b) HRdH Hfa-fab=<idpd Yl-HUST ITNT B! RITYAT T HRB] D1 fa=Ay0r HIFSTTI (100 sd)
Analyze the factors for the highly decentralized cotton textile industry in India. (100 words) 5 marks

24.  Sffarel Su Bl dgdl §3 HH b HRU HRA H TR Soli &bl Hewd AUBID §¢ 8T 2|
TRATY ol §1H & foT STaas FHed A1d B HRA d TR H ST BI fadad 1 B (200
Rlez) 10 marks

25.  Ug Hgl oldl ¢ fob YRd B S b 25 a¥ I awashdl-gfed & forg fRrar-aa sik 1 &1 uafa
HUSR & | JUTY, SRige! & qrafay &t Farit 3o R R ToR T8l St 37! Uredt aut Smafdd
JHTS &1 FATAEATAD fade 1 SIS | (200 Xec) 10 marks




	प्रश्नों के उत्तर बन्धनी में विनिर्दिष्ट शब्द सीमा से ज्यादा न हों। उत्तर की विधय-वस्तु शब्द सीमा से अधिक महत्त्वपूर्ण है।

